NEERTE (3R 1 015 30

4

9.192 x 100000 =

7.204 x 10 =

10.441 x 1000000 =

4.045 x 10000 =

H #A:

10.248 x 100000 =

o

9.062 x 10000 =

3.617 x 1000000 =

7.303 x 10000 =

3.977 x 1000 =

3.362 x 1000000 =

7.469 x 100000 =

7.263 x 10000 =

4.81 x 1000000 =

3.154 x 1000000 =

4.641 x 1000 =

1.324 x 1000 =

3.784 x 100 =

6.798 x 10000 =

1.687 x 1000000 =

2.342 x 100000 =
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NERTL (B 1 015 50)

9.192 x 100000 = 919200

7.204 x 10 = 72.04

10.441 x 1000000 = 10441000

4.045 x 10000 = 40450

7.303 x 10000 = 73030

3.977 x 1000 = 3977

3.362 x 1000000 = 3362000

4.641 x 1000 = 4641

1.324 x 1000 = 1324

3.784 x 100 = 378.4

H -

2
=

10.248 x 100000 = 1024800

9.062 x 10000 = 90620

3.617 x 1000000 = 3617000

7.469 x 100000 = 746900

7.263 x 10000 = 72630

4.81 x 1000000 = 4810000

3.154 x 1000000 = 3154000

6.798 x 10000 = 67980

1.687 x 1000000 = 1687000

2.342 x 100000 = 234200
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